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Problem 5-16. 

A medium is disturbed by an oscillation described by
Y = (3cm) sin(
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a. Determine the amplitude，frequency，wavelength，speed，and direction of the component waves whose superposition produces this result　

b. What is the internodal distance?

c. What are the displacement，velocity，and acceleration of a particle in the medium at x = 5 cm and t = 0.22 s?

ANS:

a. amplitude=3cm
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b. internodal distance=
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c. 將x=5cm t=0.22s帶入Y

所以Y=-3cm

Y/=-3*50
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Y//=-3*50
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將x=5cm t=0.22s帶入Y/=0

將x=5cm t=0.22s帶入Y//=74022 cm/s2
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